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Sample Paper – 2010

Class – XII

Subject – Accountancy
Time Allowed: 3 Hrs.





Maximum Marks:80

	General instructions:-

           (1)This question paper is divided in two parts.

           (2)All parts of a question should be solved at one place

           (3)Marks of each question is indicated against the question




PART – A

(Not for Profit Organizations, Partnership Firms and Company Account 
1.  Royal sports club sells an old furniture (book value Rs.5,000) for Rs.5,650. Show how the sale would                       be reflected in the Receipt and Payment account.                                                                               1            Can a partner be exempted from sharing the losses in a firm? If yes, under what circumstances 1  

3.  What is the nature of Revaluation Account?                                                                                        1
4.  Why there is a need to calculate the value of goodwill of the firm?                                                  1      5.  State the purpose for which balance to the credit of securities premium can be utilized.                3
 6.  On the basis of the information given calculate the amount of stationery to be debited to the Income and Expenditure Account of Royal club for the year ended 31st. Dec, 2007:

Paid for stationery                                                                                  Rs.10,000

Amount due for stationery as on 31-12-2006                                        Rs. 2,000

Amount due for stationery as on 31-12-2007                                        Rs. 3,000

Advance for stationery as on 31-12-2007                                              Rs. 4,000

Advance for stationery as on 31-12-2006                                              Rs. 1,500

Stock of stationery as on 31-12-2007                                                    Rs.  4,500

Stock of stationery as on 31-12-2006                                                    Rs.  2,000                       3
7.  Prayag ltd. Issued 5,00,000, 7% debentures of Rs.50 each. Pass the necessary journal entries in the books of The Company for the issue of debentures when debentures were:

I) Issued at par, redeemable at 8% premium.

II) Issued at 4% premium, redeemable at 5% premium.

                  III)      Issued at 5% premium, redeemable at par.                                                                3

8.  On 1-4-2005 Rohini ltd. Had made an issue of 3,000,6% debentures of Rs. 100 each. The company during the year 2006-07 purchased for cancellation of 600 of these debentures.  The paid Rs. 95 per debenture for 500 debentures and Rs. 98 per debenture for the rest. The expenses on purchase amounted to Rs. 400,. Pass journal entries in the books of the company.                                              3  
9. On march31, 2005 after the close of books of accounts, the capital accounts A,B and C stood at Rs. 24,000 , ,Rs. 20,000 and Rs.12,000 respectively. The profits for the year Rs. 36,000 was distributed equally. Subsequently it was discovered that interest on capital 5% had been omitted .The profit sharing ratio was 2:2:1.Pass the necessary journal entries.                                                                    4
 10.    Ryan ltd. Issued 2,10,000, 7% debentures of Rs. 100 each on march,31st,2002 redeemable at a premium of 8% on 30th June, 2009. The board of directors decided to transfer the required amount to debenture redemption reserve in three equal annual installments starting with march31, 2007. Record the necessary journal entries regarding issue and redemption of debentures.                                    4

  11.      X Ltd. Had an authorized capital of Rs. 10,00,000 divided into equity shares of Rs. 10 each. The company Invited applications for 50,000 shares. Applications for 40,000 shares were received. All calls were made and were duly received except the final call of Rs. 2 each on 1,000 shares. 500 of the shares 
on which the final call was not received were forfeited. Show how share capital will appear in the balance sheet of the company as per schedule vi part I of the companies act 1956.                           4
 12.    A, B and C are the partners in a firm sharing profits in the ratio of 4:3:3. The firm was dissolved on 28-02-2005. After transfer of assets and external liabilities to realization account following transaction took place:

              i)  K, a creditor to whom Rs.6,000 were due to be paid, accepted office equipment at Rs. 4,000 and balance was paid to him in cash.

             ii) A Creditor to whom 16,000 were due to be paid took over machinery at Rs. 20,000. Balance was paid to him in cash. 

iii) An unrecorded liability of the firm Rs. 7,500 was paid by A.

iv) The loss on dissolution was Rs. 10,000. Pass the necessary entries.                                   4
13. Following is the Receipt and Payments account of  Royal Trust:

                     Receipts                             Amount                           Payments                        Amount     -------------------------------------------------------------------------------------------------------------------------------------
        Cash in hand                                   14,000                            Rent                                    6,000

        Cash at bank                                   60,000                            Salary                                12,000

         Subscription:                                                                         Postage                                  300

              2007            5,000                                                              Electricity charges             6,000

              2008           83,000                                                             furniture                           20,000

              2009              3,000                   91,000                              Books                                   3,000

        Sale of investment                         90,000                              Defence bonds              1, 50,000

        Interest on investment                    2,000                              Help to needy students     22,000

        Sale of furniture (book value Rs.3,000)3,200                      Cash in hand                     10,900

                                                                                                         Cash at bank                     30,000

       -------------------------------------------------------------------------------------------------------------------------------  
                                                               2, 60,200                                                              2,60,200
      -------------------------------------------------------------------------------------------------------------------------------- 
      Prepare Income and Expenditure Account for the year ended 31st. December, 2008 and a balance sheet as on that date after the following adjustment:

i) Subscription for 2008, still owing were Rs. 7,000.

ii) Interest due on Defence bonds was Rs. 7,000.

iii) Rent still owing was Rs. 1,000.

iv) The book value of investment sold was Rs. 80,000,Rs. 30,000 of the investment were still in hand.

v) Subscription received in 2008 including Rs. 400 from  a life member. The total furniture on january1, 2008 was worth Rs. 12,000. Salary paid for the year2009 is Rs. 2,000.                 6
14.  .  P,Q and R were in  partnership. They had taken out a joint life policy of Rs. 80,000. On 31st.March, 2008. It’s surrender value was Rs. 30,000. P decided to retire from firm on this date. Balance sheet was as follows

        ------------------------------------------------------------------------------------------------------------------------------ 
                      Liabilities                                        Amount                             Assets                          Amount

       ------------------------------------------------------------------------------------------------------------------------------- 
                   Creditors                                           55,000                              Cash                          1,000

                   P’s capital                                        10,000                                Building                  40,000

                   R’capital                                        1,50,000                               Machinery              28,000

                    S’ capital                                        1,20,000                               Goodwill                 15,000

                                                                                                                        Motor van              27,000

                                                                                                                        Debtors                   24,000

       ------------------------------------------------------------------------------------------------------------------------------- 
                           Total                                         1,35,000                                                                1,35,000

       ------------------------------------------------------------------------------------------------------------------------------- 
         The following terms were agreed upon:
i) Goodwill of the firm should be valued at Rs. 21,000.
ii) The value of  building should be appreciated by Rs. 10,000

iii) Machinery should be reduced to Rs. 23,000.

iv) Create 5% provision on debtor for bad and doubtful debts.

v) Create provision of Rs. 700 on debtors.

vi) The sum payable to P is to be brought in by R and S in such a manner that their capital accounts are in proportion to their profit sharing ratio which is to be equal.                                                                                                                      The remaining partners decided that joint life policy is tom appear in the Balance Sheet. 

vii) Prepare Revaluation Account, Partner’s capital Account, Bank account and Balance Sheet.                                                                                                                                     6

  15.   Kishore and Mukesh are the partners sharing profits and losses in the ratio of 3:2. Their Balance Sheet as on 31st. March, 2008 were as follows:

       ------------------------------------------------------------------------------------------------------------------------------- 
                      Liabilities                                        Amount                             Assets                          Amount

       -------------------------------------------------------------------------------------------------------------------------------  
                   Creditors                                            10,000                                 Cash                            10,000

                   Reserve Fund                                     30,000                                 Bank                           10,000

                   Bills Payable                                      10,000                                 Building                      30,000

                   Kishore’capital                                1,50,000                                Machinery                1,00,000

                   Mukesh’ capital                               1,20,000                                Patents                         10,000 

                                                                                                                          Goodwill                     50,000

                                                                                                                          Motor van                    60,000

                                                                                                                          Debtors                        50,000

       ------------------------------------------------------------------------------------------------------------------------------- 
                           Total                                         3, 20,000                                                                    3, 20,000

-----------------------------------------------------------------------------------------------------------------------------------         

       Lata admitted on that date for 1/6 th share on the following terms:

       i) Lata would bring Rs. 80,000 as capital and Rs. 50,000 as goodwill.

      ii) Value of machinery is to be depreciated. by 20%.   iii) Value of building is to be appreciated by 60%.

     iii) Motor van is valued at Rs. 1,00,000.

     iv) Mr. X a debtor of Rs. 10,000 has become insolvent and only 40 paise in a Rupee could be realized from him.

     v)  A provision of Rs. 2,000 is to be made for outstanding legal charges.

    vi) Capital of old partners has to be adjusted on the basis of Lata’s capital by bringing in or withdrawing ion cash old partners as the case may be.  

          Prepare Revaluation Account, Partner’s capital Account and Balance Sheet.                          8
                                                                             Or

          Manoj, Raj and Bala were the partners sharing profits and losses in the ratio of 5:3:2. Their Balance Sheet as on 31st. December, 2008 were as follows:

       ------------------------------------------------------------------------------------------------------------------------------- 
                      Liabilities                                        Amount                    Assets                          Amount

       ------------------------------------------------------------------------------------------------------------------------------- 
                   Creditors                                              6,000                    Cash                                80,000

                   Workmen compensation fund            10,000                  Furniture                       12,000

                   Bills Payable                                       4,000                      Building                      1,00,000
                   Manoj’capital                                      80,000                   Debtors                        10,000  
                   Raj’ capital                                        60,000                   Less: Prov. For d/d  2,000  8,000  

                   Bala’s capital                                      40,000                                 

        ------------------------------------------------------------------------------------------------------------------------------ 
                           Total                                           2,00,000                                                                     2,00,000

      --------------------------------------------------------------------------------------------------------------------------------    

            Raj died on 30th April,2009. It was agreed that:

           i) Furniture is to be valued at Rs. 10,000.     ii) Value of building is to be increased by vRs. 9,000.

          iii) Provision for doubtful debts is to be maintained at 10% on debtors.

         Iv)  Goodwill of the firm is to be valued at two years purchase of average profit of last three years profit which was as follows:
2008 Rs. 40,000

2009 Rs. 35,000

2010 Rs. 30,000

         v) Raj’ s share in profit is to be calculated on the basis of last year sales .Last year’s sale was Rs. 20,00,000.  Last year’s profit was Rs. 2,00,000. Current year sale unto death was Rs. 4,00,000. 

        vi) Rs. 20,000 was immediately paid to Raj’s executor and balance was transferred to his loan Account.

viii) Prepare Raj’s capital account to be transferred to his executors account.      
16. . Surya ltd. Invited applications for 20,000 equity shares of Rs. 10 each at premium of 20%, payable as follows:

      Rs. 3 on application,                                                              Rs.  4 on allotment (including premium)

      Rs. 2 on first call,                                                                   Rs. 3 on final call

      Applications were received for 50,000 shares and allotment was made as follows:

      Cat. I.   Applications for 15,000 shares               ----------- Nil

      Cat. II. Applications for 10,000 shares               ----------- full

      Cat. III. Applications for 25,000 shares               ----------- 10,000 shares

      Excess money received on application can be adjusted with allotment only. Ravi to whom 1,000 shares were allotted from III category failed to pay the allotment and calls money and Hari from same category applied for  500 shares failed to pay the the final call money. All the shares of Ravi and Hari were forfeited and reissued @Rs.  8 each share. Pass the necessary journal entries in the books of Surya ltd.                                                                                                                                                                      8
                                                                                      Or

      Yes ltd. Invited applications for 40,000 equity shares of Rs. 25 each at a discount of 10%, payable as follows:

      Rs. 10 on application,                                                            Rs.  10 on allotment  

      Rs. 2.5 on first and final call.

      Applications were received for 60,000 shares and allotment was made as follows:

      Cat. I. Applications for 40,000 shares                allotted 30,000

      Cat. II. Applications for 20,000 shares                allotted 10,000

       Excess money received on application can be adjusted with allotment only. Mahendra to whom 1,000 share were allotted from I category failed to pay the allotment. His shares were immediately forfeited after allotment. Lal who has applied for 1,600 shares from II category failed to pay the call money and his shares were also forfeited after final call money due.1,300 shares out of forfeited shares were reissued at Rs. 8 each (reissued  shares  includes all the forfeited shares of Mahendra). Pass the necessary journal entries in the books of Yes ltd.                                                                                                                                                                                                                                            
         PART – B

(Analysis of Financial Statements)

17. Quick ratio of a company is 1.5:1. State giving reason whether the ratio will improve ,decline or
not change on payment of dividend by the company.                                                               1

18. State whether conversion of debentures into equity shares by a financing company will result
In inflow, outflow or no flow of cash.                                                                                         1                                                                                                                                                          19.   What are the cash equivalents?                                                                                           1

      20.   Mention any items under the sub-heading ‘current assets, and any three items under the 

              Sub-heading ‘loans and advances’ of the major heading’current assets loan and advances

               ‘ as per the provisions of schedule VI, part I of the companies Act,1956.?                           3
21. Prepare comparative Income statement  from following:

Particulars                                            31-03-2007                                31-03-2008

  -----------------------------------------------------------------------------------------------------------------------------------

            Sales( Rs.)                                            2,00,000                                      3,00,000

           Cost Of Goods Sold(Rs.)                    60% of sales                              70% of sales

           Indirect Expenses(Rs.)                       50% of gross profit                   40% of gross profit

           Income Tax                                          50% of Net Profit before tax   50% of Net profit before tax  

-----------------------------------------------------------------------------------------------------------------------------------4

22. Calculate the current assets of a company from the following information:

i) Stock turnover ratio 6 times.

ii) Stock in the beginning is Rs. 8,000 more than stock at end.

iii) Sales Rs. 2,16,000.

iv) Gross profit 20% on cost.

v) Current liabilities Rs.  80,000.

vi) Acid test ratio .75:1.                                                                                                              4

23. From the following information ,prepare cash flow statement for Pioneer Ltd.

Liabilities      31-03-2004(Rs.)    31-03-2005(Rs.)        Assets         31-03-2004(Rs.)   31-03-2005(Rs.)

   ----------------------------------------------------------------------------------------------------------------------------------  

      Equity shares       5,00,000                7,00,000               Patents            1,00,000                 95,000

      Profit& loss           2,00,000               3,50,000               Equipments    2,00,000                2,30,000

     Bank loan              1,00,000                   50,000              Furniture        3,00,000                2,70,000

     Proposed dividend   50,000                  70,000               Investment      -------                    1,00,000

     Creditors                  50,000                   45,000              Debtors               80,000               1,20,000

    Prov. For taxation   30,000                    50,000              stock                    50,000               1,30,000

    Outstanding rent        5,000                     7,000              cash                       5,000                  27,000

     Bank                      2,00,000                3,00,000                                                                                    
                                   9,35,000                12,72,000                                          9,35,000           12,72,000     

During the year, equipment costing Rs. 80,000 was purchased. Loss on sale of equipment amounted

to Rs. 5,000. Depreciation of Rs. 15,000 and Rs. 3,000 were provided for equipment and furniture.6                                      
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